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i FRRISCE| 14 24F 34F 44 54F 64F EE | R | EE | RS | WmE | RS | @R | R | @R | AR | WE | RFX
1| LgrE 26 2 4 4 4 4 4 4 796 790 6] 116 o[ 139 1| 125 o] 132 o] 140 3] 138 2
2 |2AHT 14 2 2 2 2 2 2 2 351 348 3 68 0 50 0 60 1 50 2 62 0 58 0
3 3%l 20 2 3 3 3 3 3 3 544 536 8 88 0 89 1 86 2 88 3 98 0 87 2
4 A 16 2 3 2 2 2 3 2 392 384 8 73 3 45 0 58 0 67 3 71 1 70 1
5 |5BEN 21 3 3 3 3 3 3 3 519 507 12 82 1 77 2 80 4 90 4 90 1 88 0
6 |68kFK 21 3 3 3 3 3 3 3 540 533 7 86 3 85 0 77 1 95 1 96 1 94 1
7 |1 24 3 3 4 4 3 3 4 637 623 14 93 0| 114 2| 108 5 95 2| 101 1 112 4
8 |15K%k 20 3 3 3 2 3 3 3 497 480 17 71 1 85 5 63 1 85 2 78 2 98 6
h 9 |24/ 14 2 2 2 2 2 2 2 316 312 4 43 1 42 0 64 0 52 0 54 0 57 3
5 10 [28%BIN 17 2 2 2 2 3 3 3 398 390 8 62 1 47 1 65 2 73 1 71 1 72 2
X 11 (308 15 3 2 2 2 2 2 2 320 302 18 54 1 39 1 56 2 55 3 53 5 45 6
) 12 |33 IR 28 2 5 4 4 5 4 4 804 797 71 143 ol 123 1| 129 2| 142 2] 125 1| 135 1
13 [35)11)7 15 2 2 2 2 3 2 2 332 321 11 61 0 50 1 39 1 78 4 48 3 45 2
1 13N 22 3 2 4 3 4 3 3 603 591 12 70 31109 2 96 ol 107 2] 106 1| 103 4
RN HE 1 0 0 0 0 0 0 1 2 2 0 0 0 0 0 0 0 0 0 0 0 2 0
15 [509p K 14 2 2 2 2 2 2 2 296 292 4 52 1 46 0 51 1 38 1 52 1 53 0
16 |55 %7E 17 3 2 2 2 3 2 3 425 411 14 66 0 50 2 69 2 83 4 64 3 79 3
17 56144 13 2 2 2 2 2 1 2 246 241 5 45 0 47 1 42 1 37 0 31 2 39 1
18 |65 KpkF 8 2 1 1 1 1 1 1 146 141 5 33 0 23 1 24 0 23 1 17 2 21 1
19 (1074 =R 15 2 3 2 2 2 2 2 387 383 4 83 0 65 1 58 1 69 1 51 0 57 1
1|9k R 27 2 4 4 4 5 4 4 743 733 10 112 2| 108 o[ 113 1 142 2| 131 1 127 4
2 |114W 14 2 2 2 2 2 2 2 254 246 8 38 1 44 1 38 1 40 2 46 0 40 3
3 [197EH 27 2 4 4 4 4 5 4 807 795 12 129 1 124 3] 128 2| 128 2| 146 2| 140 2
4 208G 13 2 1 2 2 2 2 2 258 248 10 35 0 40 2 36 1 38 3 47 2 52 2
5 21885 7 1 1 1 1 1 1 1 127 124 3 20 1 17 0 21 1 19 0 24 1 23 0
6 |22%5E 14 1 2 2 2 3 2 2 365 363 2 56 0 51 0 56 0 73 1 58 1 69 0
7 |23KAE 13 1 2 2 2 2 2 2 288 281 7 50 0 52 2 43 2 47 2 43 1 46 0
8 |44%EEIR 25 2 4 4 4 4 4 3 709 701 8 116 2| 131 1| 116 o] 127 3] 108 1| 103 1
i 9 |7 TiELE 14 2 2 2 2 2 2 2 293 288 5 45 0 43 2 45 0 57 2 56 0 42 1
B 100|597/ E 8 1 1 1 1 2 1 1 169 166 3 18 0 20 0 28 0 41 1 29 1 30 1
I 11 |60 DA LI 14 2 2 2 2 2 2 2 250 246 4 38 1 38 0] 39 3] 49 0] 40 0] 42 0
X 12 |61 O E 8 2 1 1 1 1 1 1 132 124 8 19 0 19 0 17 2 22 1 19 1 28 4
13 [851FHT 19 2 3 3 3 3 3 2 456 450 6 74 0 79 2 77 1 71 1 83 1 66 1
14 |92%a3: 9 2 1 1 1 2 1 1 191 188 3 28 0 31 1 26 1 43 0 35 0 25 1
15 |95%E5E 13 2 1 2 2 2 2 2 260 253 7 34 0 38 1 51 0 38 3 53 2 39 1
16100 LD H 24 2 4 4 4 3 3 4 632 622 10 110 ol 107 3] 109 3 98 0 92 1| 106 3
17 _[1065] H 7 15 3 2 2 2 2 2 2 303 292 11 40 0 40 1 49 1 52 3 56 2 55 4
18 [110/5DH 21 3 3 3 3 3 3 3 501 493 8 78 1 80 3 92 2 73 1 86 1 84 0
19 |118%mfH 12 2 1 2 1 2 2 2 216 214 2 31 0 36 1 30 0 37 0 42 0 38 1
20 (121465 8 2 1 1 1 1 1 1 150 139 11 21 1 19 1 22 1 22 0 27 2 28 6
21 {12948 RJ1] 8 2 1 1 1 1 1 1 162 156 6 19 0 30 0 22 0 30 1 26 1 29 4
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i FRRISCE| 14 24F 34F 44 54F 64F EE | R | EE | RS | WmE | RS | @R | R | @R | AR | WE | RFX
1 |SHRE 18 2 2 3 2 3 3 3 427 423 4 48 1 73 0 63 0 81 0 77 1 81 2
PN ES 16 2 2 2 3 3 2 2 428 416 12 67 3 69 3 73 2 74 1 66 2 67 1
3 |12[EA4 29 4 4 4 4 4 4 5 739 731 8l 112 1 17 1122 0] 118 2| 117 3] 145 1
4 |16fB M 20 2 3 3 3 3 3 3 545 540 5 89 1 88 1 96 0 89 0 96 2 82 1
5 |18%RAE 8 2 1 1 1 1 1 1 144 138 6 30 3 22 0 15 1 21 0 24 0 26 2
6 |27HENT 17 2 2 3 3 2 2 3 432 428 4 66 1 73 0 73 1 66 1 67 1 83 0
7 7 | 34%EHT 21 2 3 3 4 3 3 3 587 582 5 78 0 91 1| 115 2] 104 o 102 1 92 1
g 8 |361LF 21 3 2 3 3 3 3 4 527 512 15 55 2 79 2 79 2 96 1 84 3] 119 5
X 9 BU/hHHE 32 2 4 5 5 5 6 5 966 957 9 136 0| 156 0| 168 0] 168 2| 185 4] 144 3
) 10 [A0THEE 15 2 2 2 2 2 3 2 410 400 10 66 1 58 2 66 2 63 2 76 1 71 2
11 |425H°0H 5 8 2 1 1 1 1 1 1 171 161 10 25 1 19 0 31 4 31 1 23 0 32 4
12 [54= B AR 23 2 3 4 3 4 3 4 633 622 11 94 1 117 3 82 2| 122 ol 101 o] 106 5
13 |68 T 14 2 2 2 2 2 2 2 378 370 8 56 0 56 3 55 1 64 0 69 1 70 3
14 69485 13 2 1 2 2 2 2 2 301 290 11 33 1 57 1 47 3 47 3 58 1 48 2
15 |75/hFRRE 24 1 3 4 4 4 4 4 724 722 2 94 2| 117 ol 116 0] 126 o 134 0| 135 0
16 |80 THH 9 2 1 1 1 1 2 1 177 166 11 20 2 26 2 23 3 27 1 41 0 29 3
1 |13F9 5 2 0 1 0.5 0.5 0.5 0.5 17 14 3 0 1 2 0 2 1 6 0 3 1 1 0
2 [14F54 21 3 3 3 3 3 3 3 583 566 17 92 2 94 2 81 3] 103 6] 100 2 96 2
3 |17 H 7 1 1 1 1 1 1 1 115 114 1 12 0 25 0 24 0 9 1 25 0 19 0
4 |31 8 2 1 1 1 1 1 1 102 100 2 14 0 15 0 17 0 16 2 11 0 27 0
5 32 F) 5 0 1 0.5 0.5 1 1 1 49 49 0 7 0 5 0 8 0 7 0 10 0 12 0
B O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
e 6 [38KE 9 2 1 2 1 1 1 1 191 189 2 23 0 40 1 27 0 30 0 33 0 36 1
3 7 39N A 27 2 5 4 4 4 4 4 769 759 10] 145 1| 126 2| 125 0] 124 5] 122 ol 117 2
x 8 [5IREK 26 3 3 4 4 4 4 4 684 668 16 97 3] 118 4] 114 2| 117 3] 108 2| 114 2
9 |64 HE 30 3 5 4 4 4 5 5 864 847 17] 143 1 123 3] 128 2| 138 51 171 o 144 6
10 |71 F9ER 13 2 2 1 2 2 2 2 251 248 3 37 0 32 0 40 0 44 2 39 0 56 1
11 [87H2badk 12 2 1 1 2 2 2 2 231 225 6 31 1 34 1 46 0 40 0 36 3 38 1
12 |93%2obEamM 15 2 2 2 2 2 2 3 411 405 6 49 0 65 1 68 0 69 2 67 3 87 0
13 |94E IR 8 2 1 1 1 1 1 1 95 91 4 15 0 15 2 12 1 14 0 13 0 22 1
14 978D E 18 2 2 2 3 3 3 3 448 438 10 64 2 61 2 77 4 71 2 76 0 89 0
15 [102]5 8 2 1 1 1 1 1 1 145 143 2 20 1 17 0 30 1 16 0 25 0 35 0
16 |130 T4 &L 16 3 2 2 2 2 2 3 395 378 17 61 1 54 2 69 1 61 3 62 5 71 5
17 (131 FIREALN 10 2 1 1 1 2 2 1 200 194 6 22 1 34 1 27 0 40 2 38 1 33 1
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i FERISCHR| 14 24F 34 44 54 64F EE | R | EE | RS | WmE | RS | @R | R | @R | AR | WE | RFX
1 [25HE4 9 1 1 1 1 1 2 2 180 177 3 17 0 26 1 34 0 26 0 38 1 36 1
2 [26Z%H 24 5 3 3 3 3 4 3 540 515 25 74 3 86 2 78 4 82 5[ 112 4 83 7
3 |29 17 2 3 3 2 2 2 3 435 426 9 77 3 76 1 64 2 67 0 59 2 83 1
4 [49t& 15 3 2 2 2 2 2 2 324 312 12 55 1 47 1 18 3 61 1 52 3 19 3
5 |88ZFEH K 34 3 6 6 6 4 5 4 973 965 8| 177 3] 182 2] 190 2] 140 o 143 1| 133 0
6 [90KRAF 7 1 1 1 1 1 1 1 85 83 2 11 0 14 0 15 0 16 0 16 0 11 2
7 [1038E% 7 1 1 1 1 1 1 1 90 38 2 9 0 14 0 13 1 15 0 14 1 23 0
ik 8 [108RA 18 3 3 3 2 3 2 2 453 441 12 85 1 89 4 70 2 73 1 66 2 58 2
X 9 [109+% 26 4 3 4 4 4 3 4 718 704 14 92 3] 116 2| 127 4] 138 1| 106 3] 125 1
10 [11UNA 25 4 3 3 3 4 4 4 650 634 16 94 2 92 3 89 3] 120 2| 122 2] 117 4
11 112 KHE 7 1 1 1 1 1 1 1 116 115 1 11 1 13 0 16 0 16 0 26 0 33 0
12 [113F % 17 2 3 2 2 3 2 3 146 439 7 80 1 68 1 64 2 75 2 67 1 85 0
13 [115&8R 23 2 3 3 3 4 4 4 652 644 8] 102 0 93 0 93 1 111 3] 113 2] 132 2
14 116 T AN E 23 2 3 3 3 4 4 4 639 633 6 83 0 97 0 95 3] 112 1| 109 1| 137 1
15 (1175 H 13 2 1 2 2 2 2 2 298 293 5 30 2 42 1 39 1 55 0 60 1 67 0
16 1208974 BF 17 2 2 2 2 3 3 3 425 421 4 61 0 63 0 67 1 74 1 72 1 84 1
S 19 2 3 2 3 3 3 3 546 535 11 80 1 65 1 82 o[ 105 4 98 2] 105 3
2 |66%EIEE 20 2 2 3 3 3 3 4 568 562 6 68 1 85 2 90 0 99 3] 103 o 117 0
3 15 2 2 2 2 2 2 3 402 395 7 54 0 60 0 61 0 68 2 69 3 83 2
4 15 3 2 2 2 2 2 2 337 325 12 53 3 56 0 19 2 56 4 52 2 59 1
5 3 2 1 1 1 1 1 1 108 102 6 10 0 17 2 18 1 12 0 21 1 24 2
6 3 2 1 1 1 1 1 1 126 122 4 31 1 28 1 17 1 17 1 23 0 6 0
7 6 0 1 1 1 1 1 1 71 71 0 4 0 9 0 12 0 12 0 18 0 16 0
- 3 14 3 2 2 2 2 2 1 264 261 3 18 0 47 1 54 2 13 0 36 0 33 0
= 9 j 22 2 4 3 4 3 3 3 611 603 8] 107 1 98 2] 125 2 83 1 98 2 92 0
= 10 [LI45TH 32 2 6 6 5 5 4 4 915 907 8| 184 1| 176 1| 147 4] 161 1| 123 1| 116 0
11 [T19¥F T 17 2 2 2 3 3 3 2 422 416 6 54 2 54 0 80 0 77 2 84 1 67 1
12 (122 FTHE 23 1 3 3 4 4 4 4 646 644 2| 104 0 81 o] 111 2| 123 o[ 107 o] 118 0
13 [123& WM 14 2 2 2 2 2 2 2 297 291 6 13 1 50 2 61 1 17 1 36 0 54 1
14 [124 5RO 20 2 3 3 3 3 3 3 540 532 8| 101 0 90 1 80 1 87 2 86 2 88 2
15 [125 5D 8 16 2 2 2 2 2 3 3 453 445 8 63 0 64 1 61 1 62 2| 101 3 94 1
16| 126 =i 12 2 1 1 2 2 2 2 217 211 6 23 0 32 2 41 1 38 2 37 1 40 0
17 [1276%0 22 4 3 3 3 3 3 3 556 539 17 77 1 79 1 91 6 99 4 99 5 94 0
18 [1285EHT 10 2 1 1 1 1 2 2 221 214 7 31 2 34 1 30 2 33 1 47 0 39 1
& &t 1,755 229] 240.0 [ 249.5 [ 250.0 | 263.5] 259.5 | 263.5] 43,280] 42,457 823] 6,594 93] 6,793]  122] 6,939] 141] 7,311] 158[ 7,327] 134[ 7,493 175
R G 1, 754 229] 240.0 [ 249.5 [ 250.0 | 263.5] 259.5 | 262.5] 43,278 42,455 823] 6,594 930 6,793]  122]6,939] 141] 7,311] 158 7,327] 134 7,491] 175




